7.10. OxkpyxHocTh AnosutoHusi. Jlokaxkure., 4To HA KOMILIEKCHOI]
IUIOCKOCTH paBeHCTBOM |z — a| = k|z — b| npu k # 1 3anaercs oKpyKHOCTE
(a 1 b— gelicTBHTENLHBIE YHCIIA).

z-a|=k|z-b|

x+iy-a|=k|x+iy-b|

(x-a)*2+y"2=Kk(x-b)*2+y"2k

xN2+ah2-2ax+y"2-ky"2-kx"2-kb*2+2kxb=0

((1-k)x"2+2x(kb-a))+y"*2(1-k)=kb"2-a*2

(1-k) +y"2(1-k)=kb”*2-a*2+(kb-a)*2/(1-k)

(1-k) +y"2(1-k)=kb”*2-a*2+(kb-a)*2/(1-k)
{(1-k)kb"2-(1-k)a”2+(kb-a)"*2}/(1-k)={(kb"2-(kb)*2+ka"2-a*2+(kb)*2-2kba+a”2}/(1-k)=
={k(b"2+a”2-2ba}/(1-k)=k(a-b)"*2/(1-k)

+y/2=Kk(a-b)*2/(1-k)*2



